= O
N 2 0l & AF S E A A
01T SOIAr LBHSIH XSS ~ XIS D
SN RS
M2 TS E RS HUSHBBEN LT /TSI - 81
Sl SR HOEFHIFE (el &
MNuE o
SN EB -GS - MBAY - BES 0 & 24 e HRE2
R 210,685,440 162,297,018 48,388,422
= 148,083,036
= 62,602,404
RO THOHOI 2 U= PS5 (BTE AL OHE /T T 184,013,344 137,125,214 46,888, 130
JETED
2 148,083,036
= 35,930,308
AN A= 135,512, 136 102,285,445 33,226,691
= 107,504,036
= 27,988,100
SO ATS XN AP (S AIE) 35,924,000 23,378,000 12,546,000
= 21,557,000
= 14,367,000
401 AlAHIL 20| 35,924,000 23,378,000 12,546,000
2 21,557,000
= 14,367,000
01 Al 35,740,000 23,228,000 12,512,000
DI hAHS XN & AL AL 2 ] 35,740,000
= 21,447,000
= 14,293,000
03 Al&=CHYl 184,000 150,000 34,000
O GH A SRR LA LAl 2 THY) 184,000
= 110,000
= 74,000
S A S RIH &1 AL (Al 2 AIEY) 28,676,500 24,153,000 4,523,500
= 21,509,000
= 7,167,500
403 THXISHHS K20 E 28,676,500 24,153,000 4,523,500
= 21,509,000
= 7,167,500
01 RXISAXEEE 28,676,500 24, 153,000 4,523,500
O &S XN &AL 28,676,500
= 21,509,000
= 7,167,500
SHEEM AL (AIZAIR) 5,436,500 5,210,000 226,500
2 4,078,000
= 1,358,500
403 XX SIS KH2 0 H 5,436,500 5,210,000 226,500
2 4,078,000
= 1,358,500
01 KXIGHAXEEE 5,436,500 5,210,000 226,500
St EF & A 5,436,500
= 4,078,000
= 1,358,500
MEHSHE T & ALY 24,426,100 20,000,000 4,426,100
= 20,356,000
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ool JEF XA EH I FA EEEEE]
SA BB .S (BH) - MBEAY - B2 0] Ak 21 gggf; SmE=L
= 4,070,100
403 XMXISHMS K20/ 24,426,100 20,000,000 4,426,100
= 20,356,000
& 4,070,100
01 MIXSHXE2EX 24,426,100 20,000,000 4,426,100
CIMECHE =& AN 24,426,100
= 20,356,000
= 4,070,100
DS 2 AL 3,800,000 0 3,800,000
= 3,000,000
= 800,000
403 NXISHMS K20/ 3,800,000 0 3,800,000
= 3,000,000
= 800,000
01 AXESHA=2E xR 3,800,000 0 3,800,000
[JOSFo| 2 ALS 3,800,000
= 3,000,000
= 800,000
A GFE EHIAF 36,024,036 29,519,445 6,504,591
= 36,024,036
403 XMXISHMS K20l 36,024,036 29,519,445 6,504,591
= 36,024,036
01 RIXISHMAZ2E X 36,024,036 29,519,445 6,504,591
CJOISCI2A0& IR DALY 36,024,036
= 36,024,036
oI AHI YR 25,000 25,000 0
202 (4 20,000 20,000 0
01 2| 20,000 20,000 0
CotE AL R2=8 0l 20,000
203 PR =&l 5,000 5,000 0
03 AIBFEH =Y 5,000 5,000 0
(ot 2|9 R2x=& 5,000
=SB ELHT A LA 1,200,000 0 1,200,000
= 1,000,000
= 200,000
403 XXIEHHISA=201A 1,200,000 0 1,200,000
= 1,000,000
& 200,000
01 MHXEAHAA2EXR 1,200,000 0 1,200,000
O2=stdHT A TS AIY 1,200,000
= 1,000,000
o= 200,000
THoH O A A B R=UAIH =X 98,500 94,856 3,644
= 4,000
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o NOWHLL =P LS BTEN LT /LR - B9l)
Sl THHOI LA AB RS LA =T EEREE)
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off &F OH Ofl At ot HusZ
< 94,500
zrii2s 29 59,000 53,356 5,644
308 XX SHASOIH 59,000 53,356 5,644
01 NXESHBLRES 59,000 53,356 5,644
BERSERPAR= 59,000
TH I G X&) 21 ©F S XI 21 ALY 8,000 10,000 A2,000
2 4,000
< 4,000
201 Lsr2 o] 6.000 8,000 A2,000
2 3,000
= 3,000
01 At 22lt] 3,000 4,000 A1,000
Osg+g 3,000
OMUIIGHA I KR &SI+ E 3,000
2 1,500
= 1,500
03 A2 | 3,000 4,000 A1,000
WESEIPN=TER I 3,000
2 1,500
< 1,500
202 OiH] 2,000 2,000 0
2 1,000
= 1,000
01 =UH0iHl 2,000 2,000 0
CITH 401 6 &) 21 X1 2 0 bl 2,000
2 1,000
= 1,000
WL ERIEEES 25,500 25,500 0
201 Ysr2 | 10,000 10,000 0
01 At 22lt] 10,000 10,000 0
Osg+g 10,000
OTHHEPAIS AR A AR LSS 10,000
202 Ot 15,500 15,500 0
01 =U0itl 15,500 15,500 0
CTH A 2Rl Lo = P & R E T 0f bl 10,500
[JZ 40l 2 & % T LTI OH K& 21 X 81 AHR 2 &1 04 ] 5,000
T OrE O 2 2 = 2 o 6,000 6,000 0
201 L2 5,000 5,000 0
01 AtR22lt] 5,000 5,000 0
D= 5,000
O LI E M =2 22X 1 = |
100,000% 502 5,000
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SRl THOHOI Al AR RS ALY (e e
_ _ SIEN
SN EB -GS - MBAY - BES 01l &k o e HRE2
202 01t 1,000 1,000 0
01 =Uothl 1,000 1,000 0
ORI M2 22 A0l (S STAHESS) 1,000
RS TH o of 2 48,402,708 34,744,913 13,657,795
2 40,555,000
, = 7,847,708
X TH 3 21 & Xl 7 Z b 34,560,000 34,283,000 277,000
=2 28,800,000
= 5,760,000
403 XX SIS K01 34,560,000 34,283,000 277,000
=2 28,800,000
= 5,760,000
01 XtXISA X=X 34,560,000 34,283,000 277,000
XSO AE X P H A 34,560,000
=2 28,800,000
= 5,760,000
SEASBHAAYTE 290,000 290,000 0
2 200,000
= 90,000
403 XX SIS X201 290,000 290,000 0
=2 200,000
= 90,000
01 XtXISAX=2E 290,000 290,000 0
OSe88BHALEDE 290,000
=2 200,000
= 90,000
THoH 011 2 =2 Al & & 131,708 171,913 £40,205
201 Y2 ] 17,000 17,000 0
01 AtR22lt| 17,000 17,000 0
mEEER=%] 10,000
ORSDMLMHNLEZRASHIS 10,000
Oeg+g 7,000
OMBHHLSHBEARSLLES 7,000
202 01t 14,708 14,708 0
01 =UotHl 14,708 14,708 0
CITHOH Ol 2 R T B B 2 R T 04 14,708
403 RXSHSKHZ0IH 100,000 140,205 £40,205
01 XtXISHAXHZ 2 X 100,000 140,205 £40,205
CITHGH 0l 2 = Al & R X bl 100,000
SMBA LR 13,421,000 0 3,421,000
=2 1,555,000
= 1,866,000
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_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
403 X SHMSAH=201H 13,421,000 0 13,421,000
= 11,555,000
== 1,866,000
01 XIXSHMA2LEE 13,421,000 0 13,421,000
O+ MBAILE X AL 13,421,000
2 11,555,000
= 1,866,000
HHSH A (X =L WD) (JIEHIIE 93,896 93,104 792
Jl=&Hl 93,89% 93,104 792
Jl=&Hl 93,89 93,104 792
201 Yer29| 75,104 75,104 0
01 ArR2+2/H] 65,000 65,000 0
TR =] 39,333
ORAN2ZLet=2H| 39,333
O= gl 25,667
Ootd A Mol 2l P RHIAZ RIS &l 25,667
02 S22ZH| 10,104 10,104 0
2222 AAl 10,104
O e all 3,000
OYUTHHZAI A HAIRE S (45) 7,104
- & E2tel 83l & (PCS,NETSPOT)
160,0002 122 1,920
- FAXX 23] &1 (ADSL) 140,0008 122 1,680
-JIAE0IES 100,000& «12& 1,200
- L orM & 3L Z 3| & (1588-0737)
192,0008 122 2,304
202 Odtl 18,792 18,000 792
01 SUHHYI 18,792 18,000 792
OASXNAL LA 0 18,792
MPES(N+LND) (SSEMHLOHE /T - 21ere) 26,578,200 25,078,700 1,499,500
WEHHKI=E 7,405,000 6,285,700 1,119,300
Heei2es 5,405,000 2,785,700 2,619,300
702 JI2HES 5,405,000 2,785,700 2,619,300
01 JISHES 5,405,000 2,785,700 2,619,300
Oczei3es 5,405,000
=AgEHEHEE 2,000,000 3,500,000 1,500,000
701 JIESIHEES 2,000,000 3,500,000 1,500,000
01 JIEFEIHAES 2,000,000 3,500,000 1,500,000
OX==AMBSESHZE 2,000,000
28X & 19,173,200 18,793,000 380,200
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C}—Ol:

HRES (XL (SSEMUHE/THHETH - 2122])
SHNE

SN - (BIH) - MEAY - B2 0f Ao Soe HRZ2
EHE L ol Ilol 2 (K& xHAHEH) 19,173,200 18,793,000 380,200
311 X 20| XHakst 1,943,200 2,513,000 569,800
01 Al - EXYGHED | 2X 20| KHAHE 1,943,200 2,513,000 A569,800
CJ98EHZ 0l LI DI o= HI (X HIHE D =) 238,000
CI02EHZ 2 AL 03040l Il ol 2 2 H| (03K S i et D]
=) 455,000
(JOSEHZ0H0| Tl oH= 7 HI (04X HIHE D =) 497,700
OJMASSLYLEHZEDN DI oH= 2 HI (05K HIHE D =) 332,500
O2olASXIMSAIS (06X HHE I 2) 140,000
O2olASXIMEAISD (07X LML 2) 280,000
601 X223 4as 17,230,000 16,280,000 950,000
01 Al - EX LD S22 AE 17,230,000 16,280,000 950,000
CJ98EN S0l LI Lo = 5] (99K S WD =) 1,700,000
CJ02EH =2 AP 030 0| Il oH = 2 HI (03K HIH & |
=2) 13,000,000
CJO3EHZ0H 0| DI oH = HI (04X FIHE D =) 1,580,000
4SS SLYLEHZEN DI oH = HI (05K HIHE D =) 950,000




